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Fig. S3. Response of net photosynthesis rate (a, d), stomatal conductance (b, €) and
transpiration rate (c, f) to VPDL among different viral infections. The solid trend line
indicates that the slope F-test corresponds to a P-value less than 0.05 and the dashed
lines indicates that the slope F-test corresponds to a P-value greater than 0.05.
Abbreviations: VI2, plants infected with Turnip mosaic virus and Broad bean wilt
virus 2; VI1, plants infected with Broad bean wilt virus 2 only; VIO, plants without
virus; VPDy, leaf to air vapor pressure deficit; Gs, stomatal conductance; Pn, net
photosynthesis rate; Tr, transpiration rate.



